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SECTIONS A (30 Maris)

Answer all questicns in chis sect LOT.

che wost corTScE SF

4
For sach questicm, choose and write the lette® ©

answver i chs saswver book provided.

la (i) The 51 units of linesr momentum is
A. Ns
8. Erms

e IE_;H
0. JE.

*
(i1} Potential snd Kinetic energies are sisilar in that

A, both produce heat

B. both sre msasursd in watts
C. ae is a substitute of the other
D. both are forms of mechsnical Energys

: E : - ri;u-tlllf
i1} If a uvniform rod, 1.0m long of mass 100g is sSuppot ted bo ==
two knife edges placed 10.0 em from its ends, The reaction the

supports, when a 150g mass is placed at the mid-poist of the 3

will be

ik
i+

A, 250

B. 125g

I 1.25N

D. 125 dynes.

(£v} The difference between a scalar and vector quanticty is that

A, 2 scalar has magnituds only

B. a4 vector has direction only

C. & scalar has sagnitude and direction while a vector has
D. A a scalar has magnitude only while 2 vector has both

and direction.

(vl The gallax in which the solsr system is occupied is called
£ the milky way B
B. the Universe L

Cs comstellation . g5

D. X-santauri. s pan
(vi)
A. displacement s
B. velocity .{-'
Cud dlit!ﬂfl* ;“
- --J
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{1 ine heat capacity of a substasce is defined an the :5
heat required to ralse chs temparature of a unit mass of it i’ };"';: |
Heatl required to raise the temperature of a substance by IK .

heat required to raime the temperature of & unit sass of a
substance by 100°C or 3I73K.

{xi}

(x11) Az instrument which consists of 2 solencld wound around a soft i.’up

o |

* quantity of heat regquired te raise the temperature of a
subatance.

\viil) The density of most liquids decresse with increasing remperatures

hl!'-.‘a.'l..m. their voluses

A increase whille thelr masses dscrease
B. increas+ more than thelr masses
ks increase vhile thelir sasses remaln cunstant.

decrease while their nasses remaln constant.

(ix] Which statement correctly explaies the truth sbout the image formed

in a plane mirror? 1t ia laterally imverted,

eniarged, real and positioned as far behind the mirrer
as the object iIs in fromt.

B. reduced In size, virtual and pesitioned as far behind the -
mirror as tha objecet is in front.

the same size as the object, real and positioned as far
behind the mirror as the object is in fronmt. . L

the sane size an the object, virtusl and positionsd as far
behind the mirror as the object is in front,

(x} If the refractive index of water is %. thea the critical angle of
water-alr interface 1is
A, 48° 35 !
B. &5°
g 6" 51°.
when wltrs violet light falls on a metal surface, electrons are 4
saltted from the setal surface. This effect is called =
A. therzionic emlisslion
B. spontansous emission

. photo electric emission
D. electron emission.

core whose magnetism disappears vheathe current is switched ﬂl’ ﬁ
called .
A. an electromagnel

8. an electric bell

C. & magnetic relay

p. & solenoid. e |
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